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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Advanced
Certificates of Secondary Education Examinations (ACSEE) 2015 items response
analysis booklet in Economics subject. The analysis provides feedback to students,
teachers, parents, policy makers and the public in general on the performance of the
candidates.

The Advanced Certificate of Secondary Education Examination marks the end of
two years of Advanced Secondary Education. It is a summative evaluation which
among other things shows the effectiveness of the education system in general and
education delivery system in particular. Essentially, candidates’ responses to the
examination questions is a strong indicator of what the education system was able or
unable to offer to the students in their two years of Advanced Secondary Education.

The analysis presented in this report intends to contribute towards understanding of
possible reasons behind the candidates’ responses in Economics subject. The report
highlights some of the factors that made candidates to score high marks in the
questions. Such factors include ability to; adhere to the demand of the question,
identify task of the questions, express themselves in English Language and
acquisition of knowledge of the concepts related to the subject. On the other hand,
the report highlights factors which made few candidates to score low marks in the
examinations. Such factors include; failure to adhere to the demands of the
questions, failure to identify the task of the questions and lack of knowledge of the
concepts related to the subject. The feedback provided will enable the educational
administrators, school managers, teachers and students to identify proper measures to
be taken in order to improve candidates’ performance in future examinations
administered by the Council.

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and the public in general that can be used

for improving future items response analysis in Economics subject.

Finally, the Council would like to thank the Examination Officers and all who
participated in analyzing the data used in the analysis.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report on the performance of candidates in Advanced Certificate of Secondary
Education Examination 2015 in Economics subject is based on the analysis of
individual questions.

The examination comprised two papers which are Economics 1 (Economic Theory)
and Economics 2 (Economic Development). Paper 1 consisted of eight (8)
questions divided into section A and B of which candidates were required to answer
five (5) questions, choosing at least two questions from each section. Paper 2 had
ten (10) questions, five questions from section A and five questions from section B.
Candidates were required to attempt five questions, choosing at least two (2)
questions from each section. Each question in paper 1 and paper 2 carried 20
marks.

The number of candidates who sat for ACSEE in May 2015 was 7,418, of which
99.7 percent passed with grade A to D while 0.3 percent failed by obtaining grade
E. The candidates’ performance in this subject in 2015 has increased by 0.13
percent as compared to that of 2014 where 99.57 percent of 7,622 candidates who
sat for that Examination passed and 0.43 percent failed with grade E and F.
Generally the performance of the candidates in this subject was good.

This report highlights the requirements of each question, strengths and
weaknesses of candidates in answering questions. Some extracts selected from the
scripts of candidates have been attached to show the strengths and weaknesses of
candidates in answering the questions. This report will be useful to teachers,
students, parents and other educational stakeholders in taking proper measures
aiming at improving the performance in this subject.



2.0

2.1
2.1.1

ANALYSIS OF THE CANDIDATES' PERFORMANCE IN
EACH QUESTION
Paper 1: Economic Theory

Question 1: Subject Matter of Economics

This question had two parts, (a) and (b). In part (a), candidates were required to
explain the following economic concepts: Conspicuous consumption, Central
economic problem, Scale of Preference and Specific Economic Laws. In part (b)
candidates were required to distinguish Microeconomics from Macroeconomics
by providing six points.

The question was attempted by 37.9 percent of all candidates, of which 30.6
percent scored from 10 to 17 marks, 49.8 percent scored from 6 to 9.5 marks and
19.6 percent scored 0 to 5.5 marks. Generally the performance in this question
was good as 80.4 percent of all the candidates scored from 6 to 17 marks out of 20
allotted marks.

In part (a), most of the candidates who attempted this question were able to explain
the meaning of some of the given concepts in economics and they provided
examples to substantiate their arguments. For example they explained the concept
of conspicuous consumption as those goods which are purchased and consumed for
their snob appeal like gold, chains and rings. On the other hand, they explained the
central economic problem as the allocation of the scarce resources to satisfy the
many unlimited human wants and this problem can be solved through choice in
Economics. Furthermore they explained scale of preference as a sort of all
unsatisfied wants arranged in order of preference and relative importance while
specific economic laws are laws which apply to only one social economic
formation or rather within a specific mode of production. In part (b), the candidates
analysed the differences between Microeconomics and Macroeconomics. They
explained that Microeconomics deals with the behaviour of the individual economic
entities such as theory of the firm, consumer behaviour and theories of demand and
supply while Microeconomics deals with the behaviour of the whole economy
which includes national income, inflation and aggregate demand and aggregate
supply. A sample of a good response is shown in extract 1.1.



1.1 Extract 1.1
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Extract 1.1 is a sample from a candidate who managed to explain the meaning of
the given concepts in economics and distinguished the term microeconomics from
macroeconomics.

On the other hand, some of the candidates who did not perform well in this question
failed to give the proper meaning of the given economic concepts. They instead
mentioned the concepts and gave wrong explanations on them while others
attempted only part of the question in part (a), for example one candidate explained
conspicuous consumption as the process of buying goods and services from
different places while it means those goods which are purchased and consumed for
their snob appeal like gold, Porsche cars etc, and such goods are demanded for
prestige and in part (b) some of the candidates defined the concepts instead of
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analysing their differences due to the fact that they did not understand the topic.
One candidate for example differentiated the terms by stating that Microeconomics
is the economics which deal with individual decision while Macroeconomics is the
economics which deal with many or society decision as shown in the extract 1.2

Extract 1.2
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Extract 1.2 is a sample of a response from a candidate who provided explanations
on two of the concepts in part (a) and defined the concepts in part (b) instead of
analysing their differences.



2.1.2 Question 2: Production

This question had two parts, (a) and (b). In part (a) the candidates were required to
calculate the value of marginal product and fill in the blanks so as to get the data
which could be used to draw the marginal product curve which in turn could be
used to show the areas where the firm can experience return to scale while in part
(b), the candidates were required to explain the main forms of interventions taken
by the Tanzanian government to control the economic activities in the country.

The question was attempted by 51.4 percent of all the candidates, out of which 56.4
percent scored from 10 to 20 marks, 34.3 percent scored from 6 up to 9.5 marks and
only 9.3 percent scored 0 to 5.5 marks out of 20 allotted marks. Generally the
performance in this question was good.

Some of the candidates who scored high marks were able to calculate the values
of the marginal product and plot the marginal product curve as well as providing
the required interpretation of those curves. Furthermore they explained how the
government intervene the economic activities of the nation in order to accelerate
the economic development of the nation such as the provision of the subsidies,
fixing the prices of the agricultural products and setting the minimum wage as
seen in Extracts 2.1 (a), (b) and (c).



Extract 2.1(a)
<2 (a)

looomd 1 | 2 | 3

5 [s]

Toked Produwck| 30 | 70 | 120

B Se]

250 200§ 1301 430460

40 | SO

[ Mgl prdudt

60

10 40

70 70 Q0 | 10

(&

MU\Y&\l\. nod

?’mc\ut."c = A—‘oko.\ Cbi\:

AQL

() forms

o4

\nlorvenXion

‘\aken

by Vamania
pe—

Yo

aoueinmmsat

wnivol

ackviies

e consmic

fiing the
I

orice . opvemoent
( y

the prrce S0

of Tanzanty

. both

Qs

a!rﬁ(
Jeller -

Pmted:

bhuyor
7/

and

c&nd

OXLON LA M

exam’n?ﬁ

-,HYH’@ Hhe  cminienum

Nalronaldzen

ph‘u_ ,

ntevvene

g geemment o Tanzania

by
‘o e

Ao
—

owned

?ﬂ\»c\iQ Sochors b be
ol ‘o

£ 06

condxo onono ?o\\{ )

Qovexnme nt

Sb\.b&id.&:i’s 3

G.Qdo

goveyn en ent

o) ﬁev Jubsr ey ‘m

a}) TQW’LC\m'q

Yo businesy or econemic

adtvihie s oy B

O

\D(‘bmb\:e Q.:cllpsrkn Such  ag

\JV Yo,c\ weino M

indweck fox

{

JPYD *,Q,c)cl ng

consumevs  vights, bu emph

. N
Dl.siz\ﬂ(:,\) coNSWNerd

AoTMN osfotcation s JSo

7o)
Qs o f‘zm'\QLk

)
Yher

Yig\n\i Qn;l to

\’\'\Q\‘r

SN0 el

T
bc‘\\' QONOWY &

powde x .
¥

(sovermenk’

leos\a ik goverament
y ,

3

TO\V'\ QAN AS

oking
-

Of
1

laws win tedn govern

LY
Lunneds

and Aok

oY

p conoMmiC athioie £,

which Qaxe (oadutted

AN

G o ou n{‘n{ .

Extract 2.1(a) is a sample of a response from a candidate who calculated the marginal
product in (a) and provided government interventions in (b).



Extract 2.1(b
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Extract 2.1(c) is a sample of a response from a candidate who interpreted
correctly the three stages of the laws of returns to scale.

However, some of the candidates who performed poorly could neither calculate the
marginal product values nor plot the graph correctly. For example some of them
just copied the question while others interpreted the data wrongly. These candidates
seemed to have a poor background in mathematics as well as insufficient
knowledge of the economic theories in part (a). In part (b), the candidates could not
explain how the government may intervene the economic activities in the nation in
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order to speed up the economic activities in the nation instead they explained
different economic policies such as privatization, monetary policy etc, while others
just mentioned a few forms of government interventions in the economy as shown
in Extract 2.2 which is an example of a poor response in this question.

Extract 2.2
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Extract 2.2 is a sample of a response from a candidate who attempted part of

the question and explained on privatisation and monetary policies instead of
explaining on how the government intervene in order to control the
economic activities of the nation

2.1.3 Question 3: Population

Candidates were required to describe five features of population census and five
problems of carrying census in Tanzania.

The question was attempted by 83.8 percent of all the candidates of which 60.1
percent scored from 10 to 20 marks, 33.7 percent scored from 6 to 9.5 marks and
only 6.2 percent scored 0 to 5.5 marks, thus the performance in this question was
good since 93.8 percent obtained 6 to 20 marks out of 20 allotted marks.

The candidates who performed well in this question were able to describe the five

salient features of population census which are periodicity, universality, individual

enumeration, simultaneity and defined territory. They also provided relevant

examples to substantiate their points. Furthermore they described the problems

encountered when carrying out population census giving examples from the census
10



conducted in Tanzania. Extract 3.1 is a sample of a good answer from the script of
the candidate.

Exfract 3.1
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Extract 3.1 is a sample of a good response from a candidate who managed to
describe the features of population census and explain the problems
encountered when carrying out population census in Tanzania.

On the other hand, some of the candidates who did not perform well mentioned
few features and explained them wrongly while others were unable even to
mention the five features and explain the problems encountered in carrying out
population census in Tanzania, for example one candidate wrote "It must be
known or well announced" as one of the features of population census which is
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wrong while another candidate wrote that population census leads into wrong
budgeting. Extracts 3.2 is an example of a poor response

Extract 3.2
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Extract 3.2 is a sample of a response from a candidate who provided two
correct features of population census which are periodicity and specificity
instead of five features and explained on insufficient funds, poor provision of
the social services and wrong budgeting as the problems encountered in
carrying population census in Tanzania contrary to the demands of the question.
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2.1.4 Question 4: Theory of the Market

This question had two parts, (a) and (b). In part (a) the candidates were
required to explain four types of price discrimination while in part (b) they
were required to provide six ways of controlling monopoly.

The question was attempted by 60.3 percent of all the candidates whereby 53.3
percent scored from 10 to 20 marks, 31.4 percent scored from 6 to 9.5 marks and
15.3 percent scored 0 to 5.5 marks out of 20 allotted marks. The performance in this
question was good.

The candidates who performed well explained the correct types of price
discrimination such as price discrimination based on the personal income or price
discrimination based on sex and were able to provide six ways which can be used
by the government to control monopoly which include price control and paying of
tax. They also used examples to support their arguments as seen in Extracts 4.1(a)
and (b).
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Extract 4.1(a)
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Extract 4.1(a) is a sample of a response from a candidate who managed to

provide the types of price discrimination.
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Extract 4.1(b) is a sample of a response from a candidate who explained the
ways which can be used by the Government to control monopoly power in the

economy.

However, some of the candidates misconceived the question and provided the
conditions of price discrimination while others described the types of price setting
in different market structures such as price-mechanism, treaty auctioning and
different government policies. This is possibly due to the fact that the concepts are
covered in the same topic of theories of a market. Extract 4.2 shows one of the
candidates who provided different ways of price setting such as Haggling and
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Treaty agreements. Moreover, he/she explained on the government price control
in the economy instead of providing types of price discrimination.

Extract 4.2
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Extract 4.2 is a sample of a response from a candidate who instead of providing

types of price discrimination he/she provided the ways of fixing price in different
market structures and the ways through which the government control price.
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2.1.5 Question 5: Theory of Demand and Supply

This question had two parts (a) and (b). In part (a) the candidates were given
demand and supply functions and were required to solve them graphically to find
the equilibrium price and quantity while in part (b) the candidates were required to
outline the factors which affect supply.

The question was attempted by 52.8 percent of all the candidates out of which 52
percent scored from 10 to 19 marks, 34.7 percent scored from 6 to 9.5 and 13.3
percent scored 0 to 5.5 marks out of 20 allotted marks. The performance in this
question was generally good.

Some of the candidates had high scores because they calculated the equilibrium
price and quantity. Moreover, they were able to explain the factors which
influence supply economically. Extract 5.1 is an example of a good response in
this question.
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Extract 5.1
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Extract 5.1 is a sample of a response from a candidate who computed the values of y
or price which indicate y-intercept and the values of x-or quantity which indicate x-
intercept. Furthermore, he/she outlined the factors which influence the quantity

supplied by the firms in the market such as the number of the firms, price of the
commodity and the state of technology.

However, the candidates who did not perform well in this question failed to
calculate the values of y-intercept or price and x-intercept or quantity and as a
result they could not determine the equilibrium price and quantity as well as
plotting the demand and supply curves in part (a). In part (b) some of the
candidates provided the factors which influence price elasticity of supply instead
of the factors which affect supply as the question requires while others were able
to provide the factors which affect supply although they could not give the
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required explanation. Extract 5.2 is an example of a poor response in
question.
Extract 5.2
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Extract 5.2 is a sample of a response from a candidate who failed to compute
the values of y-intercept or price and x-intercept or quantity. Moreover he/she
explained a factor which influences price elasticity of supply instead of the
factors which affect supply.
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2.1.6 Question 6: Employment and Unemployment Theory

This question required the candidates to analyse five advantages of unemployment
and give five problems of unemployment in less developed countries.

The question was attempted by 89.2 percent of all the candidates. This was one of
the questions which were performed well as 73.4 percent scored from 10 to 20
marks, 21.4 percent scored 6 to 9.5 marks and only 5.2 percent scored 0 to 5.5 out
of 20 allotted marks.

The candidates who performed well understood the requirements of the question
and explained the advantages of unemployment in the economy such as the increase
in the supply of labour, the development of the informal sector and the increase in
the discipline and efficiency of labour and they also gave examples from the
Tanzanian economy. These candidates also were able to provide problems of
unemployment in the economy such as increase in the dependency ratio, increase in
the government burden and increase in the income gap between the rich and the
poor although some of them could not exhaust all the points. Extract 6.1 illustrates
a relatively good response in this question.
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Extract 6.1
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Extract 6.1(b) is a sample of a response from a candidate who was able to provide

advantages of unemployment in the economy and the problems of unemployment in
the economy.

However, few candidates misinterpreted the question by providing the causes of
unemployment instead of providing the problems of unemployment. Others
mentioned some problems and advantages but could not support them with

satisfactory explanation. They also failed to give examples from the Tanzanian
situation. For example one of the candidates wrote a reduction in the government
expenditure as an advantage of unemployment while in reality as the level of
unemployment increases in the economy government expenditure also increases
since it has the role of providing essential services to all the people including those
who are unemployed in the economy. Extract 6.2 is an example of poor responce.
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Extract 6.2 is a sample of a response from a candidate who explained the causes of
unemployment instead of the problems of unemployment.
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2.1.7

Question 7: Trade Cycles

This question had two parts, (a) and (b). In part (a), the candidates were required to
explain four phases of trade cycles while in part (b) they were required to account
for six important features of trade cycles.

The question was attempted by 93.0 percent of all the candidates. The performance
in this question was good as 71.9 percent scored from 10 to 19 marks, 24.7 percent
scored 6 to 9.5 marks and only 3.3 percent scored 0 to 5.5 marks out of 20 allotted
marks.

The candidates who scored high marks in this question explained the four stages of
the trade cycle using well labeled diagrams supported with the examples from the
Tanzanian economy. They also gave the important features of the trade cycle such
as the fact that trade cycle is in cyclical fluctuations as they are periodical and
cumulative in nature as shown in Extract 7.1.

29



Extract

7.1

)

Trade cyels Ut expontion  and cardvocha,

of eLonomis thW%hWM ¥ ot

nuuArhﬂq%mM&Mww(u,

ddors  Lke quflhﬁl.gdqoodaanc)w

Wb—u.-hr\q m;m mw%ww

Q/('O\Q-(Nf(o..\vb{ o - .
Losel q.
""'L\ Q‘LO\'\M,L ’ ]
oquCF\’ /\
feomomn

Lnfcd)"’

i

P —
}ZL o

5 >

Tuu

Boam | reders + whan Crononie  ackhnbou

M%Maﬁdmm%m1m%

ohometented by dhe  Win b o] LE| Thverd Moot

E)YDcQu*d\m ‘I\AG)‘I‘QQJ-&.J', LMNJ ofr'L&mqu U odJe

nertated  F Al phote  Thvegers o Mo aliackd

Cxetihy,

hssaots a4] b 793)/04“@,{_\ €0 ot Comdudion oo

Jln_!aib._w\, Fhals U wihan  tha econmuit

Mdh@awq'MMHbaWJ

fuestmont footed b »QgiL McLJ_eJ\m adeo FJ

Hgorenil na |, Tncowmes 04 "ﬂu Mb Hord + Jolf

7

I o ve}u)c{w@mu to o Durihes  hecose vrder

s chu:. Tivestarn [‘ﬂy,u

b,n_dpx-t.u-\o,n whesn e <ecomoanc cu..h\nhw

ot od e lasy lesse] ’W.u U alge called ecomovart

30



1b)

Trode mdh unWchﬁuh

m%ﬁm%&m@u#“%@mm

no ounenolww L:*'LJ wwww

e plotes . medgmm@!pwaﬂ

~J

Mw?wﬁaﬂw@d*&m

ﬁﬂq-—e- <L'P K] e G ne] N mog_hh«{ '

U Tedh gl b well mewod W Capidal

qoods i Copide) 'qwéu rfen te the geali Uesd

prduces other  goods. Toorfont ke and Al

Q;‘-McQLQHCIQL.JUNa.\M_Lq morkad v T

Cwﬂ—d gcx::li bke MQ(.(JA.LJVU-J lan o heoe b

&NWM 7w Chkdy b Moy &b He bhoem

mwmwmlmh

uthMWWW

&muum%*&bvm\;u)bfwumm%

M@%MMWWW

ecomonns _ashuchos M&M,ﬁ%%u*w%m

aqaﬁwﬁ'fwkqu%

O Trask Q.»~|OL[ U raifering ™ Miﬂl-r{'

WMMMQJMMCL'WQWM

m@@mwm—mwfwwm__

M)&,Q,c_m,u_u “:}UCQM[WMMWJ

¥

pko..uu,uﬂ L onns, ¢

FMU: bod, a,ucLu Lawg  haw Fu

Lovel Oj* eqmwrc oo d cuf Mﬂumucf v

mwm L%anﬂmuow\wé/

WWI Qs».{ W wa?aﬁlwur

-

Extract 7.1 is a sample of a response from a candidate who illustrated the four
features of the trade cycles by using a well labeled diagram and explained the
important features of the trade cycle with examples from the Tanzanian economy.

Nevertheless, there were some candidates who not only misinterpreted the question
but also failed to draw the diagram to demonstrate the four phases of the trade
cycles. They also failed to explain the important features of the trade cycles
chronologically as it is required in the sequence of occurrence. Others attempted
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only part of the question and ended up with wrong answers. Extract 7.2 is an
example of a poor response in this question.

Extract 7.2
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Extract 7.2 is a sample of a response from a candidate who could neither draw a
well labeled diagram to show the phases of the trade cycles nor explain the phases

of the trade cycles instead he/she just outlined the phases without adhering to
required chronological order of occurrence.
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2.1.8 Question 8: Theory of the Firm

This question had two parts, (a) and (b). In part (a) the candidates were required to
use a well labeled diagram to distinguish between break-even point and shut down
point of a firm in perfect competition while in part (b) they were required to
examine seven factors which would influence the firm to go on production even
when it makes losses.

This question was attempted by 29.4 percent of all the candidates out of which 52.1
percent scored from 10 to 20 marks, 30.5 percent scored from 6 to 9.5 marks and
17.4 percent scored 0 to 5.5 marks out of 20 allotted marks. Generally the
performance in this question was good.

The candidates who had good performance in this question drew the diagrams to
show the break- even point of the firm operating under perfect competition in the
long run. They also showed the shutdown point of the firm operating under perfect
competition in the long run whereby at the break-even point the individual firm
earns only normal profit while at the shut-down point the individual firm is making
loss which is equal to total fixed cost. Furthermore, the candidates explained the
factors which may force a firm to continue producing although it is making loss,
such as to maintain customers, to minimize loss, to provide important services to
the public such as water, electricity. Extract 8.1.is an example of a good response in
this question.
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Extract 8.1
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Extract 8.1 is a sample of a response from a candidate who used a well labelled

diagram to show the break-even and shut-down points of a firm under perfect
competition and gave examples from the Tanzanian economy to explain the factors
which may influence a firm to continue with production although it is making loss.

On the other hand, some of the candidates who did not perform well could neither
draw relevant diagrams to illustrate both break-even point and shut-down point of a
firm under perfect competition nor provide the factors which may influence a firm
to continue with the production process although it is making loss while others

35



attempted part of the question by providing few factors which may influence a firm
to continue producing while it is making loss. Extracts 8.2 (a) and (b) are samples

of candidates’ poor responses.

Extract 8.2(a)
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Extract 8.2(a) is a sample of a response from a candidate who drew a poorly
labeled diagram and provided wrong explanation on a firm producing under
perfect competition in the long run.
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Extract 8.2(b)

§ bl fachy ot would ineluence e prm fo R

-
00 _on pmclucﬁon euen when i+ maka_r logs are 2 B

Am.labLqu faw molencd@ When hﬁ l$
avatlable ma{grmls %F prodyces Cerkan QOmmooMy
oy €0 piron_will ke forced |y g0 on produchon

Aum[abl[ I-\LOL @La[g\e cmt \f Q pim U
able b wnewr ueab  vorable coet of plu{uchon%w

will eonhnue n JJTO(:[MQEON

Extract 8.2(b) is a sample of a response from a candidate who explained two
factors which influence a firm to continue producing under perfect competition
instead of providing the factors which influences the firm to go on producing even
if it is making loss.

PAPER 2: 151/2 - ECONOMIC DEVELOPMENT

Question 1: The structure of the Tanzanian Economy

This question had two parts, (a) and (b). In part (a) the candidates were required to
explain six strategies that can be used to improve agricultural sector in Tanzania
while in (b) the candidates were required to provide reasons that justify the need of
business ownership to be left to the general public and not to individuals.

The performance in this question was good as it was attempted by 68.3 percent of
the candidates out of which 21.6 percent scored from 10 to 20 marks, 60.4 percent
scored from 6 to 9.5 marks and only 18 percent scored 0 to 5.5 out of 20 allotted
marks.

The candidates with good performance this explained the strategies which can be

used to improve agricultural production in Tanzania such as the use of the modern

agricultural implements, introduction of irrigation schemes, provision of both the

credit facilities to the farmers and agricultural extension services to the farmers as

well as commercialization of the agricultural sector. Also the candidates managed

to provide the reasons for the need of leaving business ownership to the general
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public such as insuring national security, reducing income gap and provision of the
essential services to the public. Extract 1.1 is an example of a good response in this

question.

Extract 1.1
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Extract 1.1 is a sample of a response from a candidate who was able to explain
the strategies of improving the agricultural sector in Tanzania and provide
reasons for the need of leaving business ownership to the general public.

On the other hand, some of the candidates who did not perform well
misunderstood the question hence provided irrelevant answers, for example
some provided the strategies of improving the agricultural production and
reasons for public ownership while others explained on the agricultural
development schemes and state farms. Extract 1.2 is an example of a poor
response in this question.
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Extract 1.2
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Extract 1.2 is a sample of a response from a candidate who misinterpreted the

question as he/she wrote on agricultural development schemes, state farms and
the types of agriculture
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2.2.2 Question 2: Environmental Economics

The question had two parts (a) and (b). In part (a) the candidates were required to
explain the main economic significance of controlling negative externalities while
in part (b) the candidates were required to provide six measures of controlling
negative externalities.

The question was attempted by 29.5 percent of all the candidates out of which 23.9
percent scored from 10 to 20 marks, 49.3 percent scored from 6 to 9.5 marks and
26.8 scored 0 mark to 5.5 marks out of 20 allotted marks. Generally the
performance in this question was good.

The candidates who performed well in this question were able to explain the main
economic significance of controlling negative externalities in our environment
which are the improved standard of living of the people, increased efficiency of
labour and preserving the existing stock of the world resources as well as providing
six measures which can be adopted in dealing with externalities such as the
formulation of strict policies by the government, imposition of the special taxes and
the use of modern agricultural practises in the economy. Also the candidates
supported their points with examples from the Tanzanian economy. This can be
shown in the Extracts 2.1
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Extract 2.1
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Extract 2.1 is a sample of a response from a candidate who explained both the
significance of dealing with the negative externalities and measures to be taken in
dealing with externalities.

However, some of the candidates performed poorly because of explaining on the
effects of negative externalities while others mentioned few points on the measures
used to control externalities and explained measures used in the environmental
conservation. Extract 2.2. is an example of a poor response.
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Za

?c»noM'z ecrqw{hwu 2 ocm;t*‘dlw\g .\qqﬁwa ocRerna iR\ -
@Q.tu)\*‘i to

Nere e T ?mé,.,\a}w 9.& q.:»c-d-d a2 Qosrvites
"M:‘S T e &2 -"aﬂ e vo L ﬂ,\}{:‘moz Q uv‘i«o& l\'\\
*\e& /\(Lc\w &&@roﬂ&}% (28 ,:‘c.uz.g)/« asf gﬁ‘“uﬁ\un .a/vé w::l’

dpod e cdtrel W N tead 4o inommee o prduke,
doo do B ool wemek g coducin  gerduck
ern  aeb ot oad o o recddd pm—éwdﬂrza a.g\ Mohq
guabty ond ot Wk guandhy ‘?”"J““b

B oreade L Preger Ak ap o rorpmrces ia

F_rwé«u c}\-b.«, ax e Xk a Qo»«i‘"““\\v@\
\T"QT@ PSS ¥ o

,w\ku%m anst foer coads &w,&m & eontl
lead o Yo P Al eakon @.%‘*9« rerourced  omodh ae woaler

o cadd ok be  aed ol eaetec W ¥ and
Yorahorz @z acecdd op  codoolline  noqadtt exdernalidrea
fetourcet oo ax cader R .,m\}j—lon})\: cotll L preporty
Amed 5, A groduckon @ accdi and con?RL.
T et Ao aa Q,Q@;Mm*

Oﬁv\_é,&/«:_*\\,\g\ MC!\U/\ PRPS SWPRN & ey, ot
g 8 opgaber  opdenalies 3 oM
criske & coptevalli  gavvenmed G prodeckin

achude e £ e pd Wad gredide. oW L

2 tre AA/.Q«)C <e=f

coadocAd W cuelh on @avvvonnet ‘.&Q\Q\M aan  decton-

howe ar  rlond ony gelisko, e oconk R Buns

IR 2= % U7 S SN ak .f.qr )‘Zméud\b “ acdroates s

iaﬁ?wé»\r\'\ Q@A\? 3 LANTM oA .m:’J S ¢ ro-do e o

R=2 A FU%—H Q% QDM\*\’\Q\ “R—Q A a%ﬂﬁ\w 2 ’&UT)

nalR ex NSRS (ST o & St I _mjm_mj\/u ﬁﬂw

Wi camdy b securs R

[T
—J

nb‘t-mu\ —"‘e\.&?y‘l © (?«Q.cﬂ\’i .e,»chn\o&ﬂ*‘ei , @e cl/wt 4o R

Lo Xt e peeeriue edrencd®es ot dmaed

QQ’P(( o_MM\\NK ‘BQ \ -NZRGJS'OQ Q&Uc\w%% w.CL« a;r

45



e ldewr wnnoee Aedioy ef prdoke o Lelp

adrol  48e bt odenalfu gp gellde. ok &

7

—t——

ard _ aa sccradk g a.&qn(\m ad tabrons “wdemctue

S&cQ/\N\W 4_12“ MOA A “8-?*( Mng*%u ‘Q«M»ok/*

adioe & oIl M\&\OA ad amr\q}\\ve bb’ramwtl"’\

Mta wie ap W @—{\hw ard Az ’;'\

ageredhve, Ram  abee o Ul do ool the e

w?‘w% <@ plluking H oafer ,od8 o Berernlc

4{{\5,:31\3 s e CRrans _ond odhhmd Dol

N
ws—f Qe M et g.rsz\ém and xwzu)\vée_r - ef,a\r«*odiw-z

@uzﬁ D/QQADA Ay d voT‘P-Q MU ‘RZ'\ (&TN }Qﬂv’\w«-‘

Whee  _adastne et e sz} -QM W &um‘udr

ark ‘S,\’Aaflo ADM('-\\WQ*"FR e oz of nadned M‘{m

ond ~onwre il Lelp Ao coudeod | 3er glekon  fromie

3\A&)«-9M e anceade s a\vxqc&\ﬁi w\"c\.\

%%vfb a@eﬂ’"’\\\;’ er\\,WAAQM prMOA qu%
= ab_re ane 2 ~e M«J e e "%84? anQﬁ\\U"Q

eradee o bt codolad  olods, Rt

a@;,?k\vo, af e eroNonm el WM AN LA Rt

M at Aand  etlacadie, W neeleod of caltvsde

MA\MMQ{MMMJMP%*

Wko‘amd"\) Mudﬂd’v’\ MIARL WQL -

Extract 2.2 is a sample of a response from the candidate who misinterpreted the
question as he/she explained the effects of negative externalities. The candidate
also provided the methods of environmental conservation which are contrary to the

demands of the question.
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2.2.3 Question 3: Economic Planning

The question had two parts (a) and (b). In part (a) the candidates were required to
explain the importance of Economic planning in Tanzania while in part (b) the
candidates were required to explain five problems facing Economic planning in
Tanzania.

This is question was attempted by 92.5 percent of all the candidates out of which
74.9 percent scored from 10 to 19.5 marks, 20.7 percent scored from 6 to 9.5 marks
and only 4.4 percent scored 0 mark to 5.5 out of 20 allotted marks. Generally the
performance in this question was good.

The candidates who performed well in this question were able to explain both the
importance of the economic planning in Tanzania which include the proper
allocation of the scarce resources, reduction of the income gap, elimination of
unnecessary competition. They also managed to explain the problems facing the
economic planning in Tanzania like the poor development of the social and
economic infrastructures, natural calamities, unreliable statistical data and
dependence on the foreign aid. The candidates presented examples from the
Tanzanian economy to support their arguments. For example one of the candidates
stated how economic planning is useful in reducing the income gap between the
Tanzanians and bringing balanced regional development in the country. He/she
showed how economic plans are used as solicitants of foreign aid from the donor
countries such as the United States of America, China and the international
financial institutions such as the World Bank and the International Monetary
Funds.

On the other hand, there were few candidates who misunderstood the question and
wrote on the effects of economic planning on the economic development of Tanzania
while others attempted part of the question by providing wrong answers as seen in
Extract 3.2.
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Extract 3.2
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Extract 3.2 is a sample of a response from a candidate who misunderstood the
question as he/she wrote on the effects of the economic planning instead of the
importance of the economic planning. Moreover he/she provided two wrong points on
the problems facing the planning process in the Tanzanian economy which are low
level of science and technology and low level of investment.

2.2.4 Question 4: National Income

The question had three parts, (a), (b) and (c). In part (a) the candidates were
required to calculate: (i) Average Propensity to Consume (APC) and (ii) Average
Propensity to Save (APS). In part (b) the candidates were required to calculate the
changes in the (APC) and (APS), if one had a disposable income of T.shs 10,000
and Consumption was Tshs 12,000, then to comment on the answer. In part (c) the
candidates were required to explain six leakages of Multiplier.

The question was attempted by 9.9 percent of all the candidates out of which 32.1
percent scored from 10 to 20, 50.4 percent scored from 6 to 9.5 marks and 17.5
percent scored 0 to 5.5 out of 20 allotted marks. Generally the performance in this
question was good.

The candidates who performed well in part (a), (b) and (c) of this question were

able to calculate Average Propensity to Consume and Average Propensity to save
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correctly as well as commenting on the values obtained. Also the candidates were

able to

interpret the economic significance of the data obtained in the national

income and explaining the factors for the leakages of multiplier such as the taxation
policy, strong liquidity preference, savings and net imports as required by the
question asked. For example one of the candidates explained that high imports or
negative net exports and inflation are among the factors which lead into the
leakages of the multipliers. Some of the candidates calculated correctly the values
of APC and APS as shown in Extract 4.1.
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xtract 4.1 is a sample of a response from a candidate who used the data to

calculate APC and APS and interpreted the data correctly.
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However there are some candidates who did not perform well because they
misunderstood the question as they could neither calculate nor interpret the data
correctly and as a result they could not give the economic significance of the data
obtained while others failed to explain the operation of the multiplier to improve
the economy as shown Extracts 4.2. (a) and (b).

Extract 4.2(a)
Aay
D ALC Avoica Ge prpinr Jiby  fe Conueme = Dipecadds s

Conivimpteon

ANPC = DisPaa iy ncoome

Consornp 1 un

ApPc + A< = 1

Aps < Dis pesably 10 Come
 Nauing il
APS = 200 O s
5 00 T4n
APs = 123233 Tihs

APC +12-232 —4
ApC — 1— 13 "33
/\F’C: "‘2333

APC = (12 2333 )

MNP C = (02 -2233 Tebhs)
A\;ngq pmpiﬂu\,,y te (rmg\,; = 12-33WTshs
Wy APS = Aopasabic VA €O

Savin N
APS = Qoo Tiws
LS e Tsboy

ApPS = 137333 2

3

Ave (e ae ‘?“_“3@‘%1,5“ o, &}; Save
s 223272

Extract 4.2(a) is a sample of a poor response from a candidate who calculated APC
and APS by using a wrong formula whereby he/she divided disposable income to
savings instead of dividing savings to disposable income which led him to the
Wwrong answer.
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Extract 4.2(b)
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Extract 4.2(b) is a sample of a response from a candidate who wrote on state of
technology, scarce resources, less ability entrepreneurs and low productivity as the
leakages to multipliers instead of the leakages of the multipliers.
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2.2.5 Question 5: Public Finance

This question had two parts (a) and (b). In part (a) the candidates were required to
design seven mechanisms that can be used to reduce the government expenditure in
developing countries like Tanzania while in part (b) the candidates were required to
describe three Roles of Public Finance.

The question was attempted by 52.8 of all the candidates out of which 22.4 percent
scored from 10 to 20 marks, 35.6 percent scored from 6 to 9.5 marks and 42
percent scored 0 to 5.5 out of 20 allotted marks. Generally the performance in this
question was good.

The candidates who performed well in this question were able to design
mechanisms that can be used to reduce government expenditure in developing
countries like Tanzania. The candidates also explained the role of public finance in
the economy as shown in Extracts 5.1(a) and (b).
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Extract 5.1(a)
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Extract 5.1(a) is a sample of a response from a candidate who explained the
mechanisms of reducing government expenditure correctly. The candidate
highlighted key mechanisms like the privatization of the public trading firms which
are operating at loss or inefficiently and the purchase of expensive and luxurious
cars which tend to increase government expenditure.
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Extract 5.1(b)
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Extract 5.1(b) is a sample of response from a candidate who explained correctly the

role played by public finance.

On the other hand, there were some of the candidates who lacked sufficient
knowledge on the topic hence could not design the mechanisms of reducing
government expenditure and the role of public finance in the economy. Others
mentioned a few mechanisms but failed to explain the role played by public finance

in the economy. Extract 5.2 is an example of a poor response.
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Extract 5.2
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Extract 5.2(b) is a sample of a response from a candidate who wrote on the canons
of taxation and could not describe the role of public finance as she/he ended up
mentioning collection of tax, stabilisation of the economy and reduction of income
inequality which are among the reasons for taxation in the economy.

2.2.6 Question 6: International Trade

The question had two parts (a) and (b). In part (a) the candidates were required to
describe factors affecting terms of Trade while in part (b) the candidates were
required to evaluate five gains from international trade to a country.

The question was attempted by 61.4 percent of all the candidates out of which 59.7
percent scored from 10 to 20 marks, 35.8 percent scored from 6 to 9.5 marks and
only 4.5 percent scored 0 to 5.5 out of 20 allotted marks. Generally the
performance in this question is good.

The candidates who performed well in this question were able to evaluate gains
from international trade to a country which include the increase in the growth rate
of the national income, earning the foreign exchange by the member states and
widening the size of the market. They were also able to describe the factors which
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influence Terms of Trade such as change in Tastes, market condition, change in
technology and economic growth of a particular country. Also the candidates had
enough knowledge on International Trade in such a way that they managed to give
examples with reference to the Tanzanian International Trade. Extract 6.1 is an
example of a good response.

Extract 6.1
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Extract 6.1 is a sample of a response from a candidate who provided the reasons
for the international trade such as development of the diplomatic relationship,
transfer of technology and the level of employment. However he/she could not
evaluate gains from international trade to a country contrary to the demand of the
question.

Candidates who did not perform well misunderstood the question by describing the
reasons for international trade instead of the factors which affect international
trade. Also, they could not evaluate gains from international trade as some of them
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focused on the effects of international trade while others attempted part of the
question. Extract 6.2. is an example of a poor response.

Extract 6.2
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Extract 6.2 is a sample of the response from a candidate who could not describe the
factors which affect terms of trade instead he/she gave reasons for the international trade.
The candidate also did not evaluate gains from the international trade instead he/she wrote
on the effects of international trade.
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2.2.7

Question 7: Financial Institutions

The question had two parts (a) and (b). In part (a) the candidate were required to
elaborate six problems facing financial institutions in Tanzania while in part (b) the
candidates were required to outline four contributions of the Bank of Tanzania
(BOT) to the economic development of the nation.

The question was attempted by 85.9 percent of all candidates out of which 45.2
percent scored from 10 to 20 marks, 34.7 percent scored from 6 to 9.5 marks and
20.1 percent scored 0 to 5.5 out of 20 allotted marks. Generally the performance in
this question was good.

The candidates who performed well in this question were able to elaborate the
problems facing financial institutions in Tanzania which include low level of
borrowing, government intervention, low saving habit of the people, non
performing loans and low levels of skills of banking as well as other credit
facilities. Moreover they provided examples from the commercial banks operating
in Tanzania to show the problems facing financial institutions in Tanzania.
Furthermore these candidates outlined clearly the contribution of the Bank of
Tanzania (BOT) to the economic development of this country. Extracts 7.1 is an
example of a good response.
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Extract 7.1
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Extract 7.1 is a sample of a response from a candidate who outlined the contribution
of (BOT) to the economic development of the nation.

However, few candidates who did not perform well misconceived the question;
some of them mentioned the problems facing the economy such as poor transport
and communication while others attempted part of the question. Extracts 7.2 is an

example of a poor response
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Extract 7.2 is a sample of a response from a candidate who explained that the (BOT)
has no contribution to the economic development of the nation which is contrary to the

demands of the question.

2.2.8 Question 8: Economic Growth and Economic Development

This question had two parts (a) and (b). In part (a) the candidates were required to
examine the factors which hinder development while in part (b) the candidates
were required to provide reasons which make Tanzania to be classified as a country
with dependent economy.

This question was attempted by 50 percent of all the candidates out of which 57.1
percent scored from 10 to 19.5 marks, 33.4 percent scored from 6 to 9.5 marks and
9.5 percent scored 0 to 5.5 marks out of 20 allotted marks. Generally the
performance in this question was good.

The candidates who performed well in this question analysed the factors which
hinder the economic development like the use of inappropriate technology, a higher
rate of population growth when compared to the growth rate of national income
and occurrence of the natural calamities. They also provided the reasons which
make Tanzania to be categorized as a country with dependent economy which
include dependence on the foreign capital, international trade, foreign experts,
international financial institutions and foreign technology in production. These
candidates were able to provide examples from the Tanzanian economy to
substantiate their arguments. The extract 8.1 demonstrates this.
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Extract 8.1
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Extract 8.1 is a sample of a response from a candidate who managed to analyse the
factors which hinder development and provide reasons which classify Tanzania as a
country with dependent economy.

On the other hand, there were some candidates who misunderstood the question
hence failed either to give factors which hinder development or give reasons
which make Tanzania to be categorised as a country with dependent economy.
Some of the candidates responded on the categories of dependence instead of the
factors which hinder development. Others stated that lack of industries and big
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commercial farms are the causes for Tanzania to be categorised in that group. in
that managed to attempt only a part of the question as shown in Extract 8.2.

Extract 8.2
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Extract 8.2 is a sample of the response from a candidate who explained on the
factors which accelerate development such as the presence of enough capital,

employment opportunities and investment which are contrary to the demands of
the question.
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2.2.9 Question 9: Economic Integration and Cooperation

This question had two parts (a) and (b). In part (a) the candidates were required to
analyse seven strategies that can be adopted to widen the market size in the East
African Community while in part (b) the candidates were required to examine four
challenges that the new East African cooperation faces.

This question was attempted by 19.4 percent of all the candidates out of which 31.3
percent scored from 10 to 20 marks, 50.5 percent scored from 6 to 9.5 marks and
18.2 percent scored 0 to 5.5 out of 20 allotted marks. Generally the performance in
this question was good.

The candidates who performed well in this question were able to analyse the
strategies that can be adopted to widen the market size in the East African
Community such as the improvement of the transport and communication networks
reduction of the trade barriers among the member states and the promotion of the
exports and diversification of the economies of the member states. They also had
sufficient knowledge on the challenges that the new East African Community is
facing like the political misunderstanding between the presidents of the member
countries. They provided examples from the community when examining those
challenges such as the conflict between the presidents of Tanzania and Rwanda.
Extract 9.1 is an example of a good response.
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Extract 9.1
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Extract 9.1 is a sample of a response from a candidate who analysed correctly the
strategies which can be adopted to widen the size of the market and examined the
challenges of the new East African Community.

On the other hand, some of the candidates who did not perform well just mentioned
few strategies but failed to analyse them and explain how they can be adopted to
improve some sectors of the economy while others explained differences in
languages and the presence of pests and diseases as challenges to the new East
African Community as shown by one of the candidates in Extract 9.2.
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Extract 9.2 is a sample of a response from a candidate who explained the
improvement of some sectors instead of analysing the strategies of widening the
market size in the community and explained that different languages and the
presence of pests and diseases as the challenges to the new East African
Community.
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2.2.10 Question 10: Marketing and distribution.

This question had two parts (a) and (b). In part (a) the candidates were required to
distinguish transportation from communication and in part (b) the candidates were
required to explain eight problems facing transport and communication in
Tanzania.

This question was attempted by 66 percent of all the candidates out of which 56.2
percent scored from 10 to 18 marks, 39.1 percent scored from 6 to 9.5 marks and
4.7 percent score 0 to 5.5 out of the 20 allotted marks The performance in this
question was generally good.

The candidates who performed well in this question were able to distinguish
transport from communication and could manage to explain eight problems facing
transport and communication in Tanzania. These problems are like natural or
climatical conditions which make most of the roads to be passable only during the
dry season especially within the rural areas, congestion, poor development of
transport and communication net work systems and unreliable market. Extract 10.2
is an example of a good response.
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Extract 10.1 is a sample of a response from a candidate who managed to
distinguish the term Transport from communication and explained the problems
facing the transport and communication sector in the economy.

On the other hand, there are some candidates who did not perform well. These
candidates were only able to distinguish transport from communication but they
failed to explain the problems facing transport and communication in the country.
Some of them explained the issues of lack of education, government support and
advanced technology as problems facing transport and communication while others
mentioned the natural factors and poor infrastructures without any explanation as

seen in the extract 10.2.
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Extract 10.2
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Extract 10.2 is a sample of a response from a candidate who mentioned some of
the points correctly but provided wrong explanations. He/she also gave wrong
points such as lack of education and advanced technology as the problems of
transport and communication in Tanzania.

3.0 THE ANALYSIS OF PERFORMANCE PER TOPIC
The 2015 ACSEE Candidates' items response analysis shows that the performance

of the

candidates was generally good since the percentage of the candidates who

scored an average of 30 percent or more is between 58. and 97.60 percents. A

simila

r case is observed in the 2014 ACSEE performance whereby the percentage
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of the candidates who scored an average of 30 percent or more ranged from 65.60
to 98.30. Despite such good performance in all the topics in 2014 and 2015 the
performance in the topic of public finance declined from 74.70 percent in 2014 to
58.00 percent in 2015. The reason behind this is that in the 2014 ACSEE the
candidates were tested on the taxable capacity and the functions of the budget the
themes which are analysed annually during the budget and there are different
sources of materials on this practical concepts while in the 2015 they were tested
on the mechanisms of reducing government expenditure and the roles played by
public finance. Designing the mechanisms which may lead into a reduction in the
government expenditure and explaining the roles played by public finance needs a
sufficient knowledge on the topic and there are few references on these concepts
hence this might have caused some of the candidates fail to score comparatively
higher marks.

CONCLUSION

The analysis given in this report has shown that there is a significant improvement
in the ability of the candidates in answering questions in Economics subject. The
main strengths observed from the analysis of the candidates’ responses indicate that
the candidates have improved in understanding and identifying the question task
and the use of technical terms as reflected by their responses. However there are
few candidates who still have some problems in interpreting mathematical
calculations and derivations of the economic theories and integrating theories and
the practical Tanzanian economy.

RECOMMENDATIONS

In order to improve more candidates’ performance in future, the followings are
recommended:

(a) Candidates should be encouraged to read the examination questions carefully so as

to be able to identify the requirement of the question.

(b) Economics Teachers should be encouraged to teach the students how to tackle

economics questions especially in identifying the task of the question,
mathematical derivations, summarising the economics data through graphs, tables
and charts.

(c) Teachers should be encouraged to use guest-speakers practical sceneries such as

banks, markets, entrepreneurial skills in both industrial and agricultural sectors.
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Also they may use national and international trade exhibitions such as Sabasaba
and Nanenane which are taking place in the country annually to facilitate the
learning and teaching process.

(d) Students should be encouraged to use internet as the alternative source of
learning/teaching materials.
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Analysis of Candidates’ performance per Topic in Economics Subject.

151 Economics
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